EBXENTNIAF VX I5TH8AGI Y v h—KE

H i +M6E18278 (LER)
HEBRME 1253-55-1253
2 — F Ha—h () | FFa—h(F) B R (3) | B e [ 45 ()
AER-H—E ATV LR -E- XKl HRE—
TooURAE A74EL BLE= HFi#
@ + | ATRYY o E | B7AYY ;_ c7avy D7 RAvYY
Sl 7 g L s [ LD m | LI ] =
| [7zL550 i’ . | o7aEt /_‘2 — A Fl ¢ ByE | B
9:30 e FCFuji K| 7oeL | % Ttz 3
AJOvY ] BJOwY > cJovy EJOvy
7 ‘ _ ) _ E3
AnanMFIaanEd CinanE-
5 | KE-X ’z T gt— | = | @ TSC =
T |LAYsr4 HE E=g i
+ i | B7EvY | o coavy DI7EvY |
a LT 2 F L] =] L] =
> i - A +* — S - i
{ Claars] & | = [ #F NPT IN
11:00 5 FCFuiji K | 7oes | £ =2+= BFE
AJOx F L BT O Inl EJOx
® o Javy c x Javy - c7avy - - Javy 5
RS NN R - R
i /85—%| u ; R-E-K z Fl1&8t= | = | & | ERE—| %
11:35 7L % |B7ast 7 TSC L
AJOw F BT O Inl DJO-
® ;u\ Javy c rz\ Javy - - c7avy - } Javy =
ANIIEI - B R - R - RN
| |7zLs50] U . | eFaEt z - A S| B o xrs | B
12:30 5 a74A J, X |(LA9424 R 7V)—5 L
AJOvy L | BJOws crnovy EJBvY
@ o Y + Y ;Io Y % Y 5
> ST 7 | » [ # | 2 11
i FCFuji ; 7obL | g | F | 2x= | 7 | 2 Fi 5
13:05 tN5—4 5 | K-E-K| £ Et— HERE— | b
T— LRy hRA] FCFuji LAT4RE A EP-E




BELINANTAF U RIZTHRBAG Y vh—KE

B 1+ SH64£1H8288 (AER)
G 1053-35-105)
S — K | HatROEU—Y) | Ho—tmeEI—Y) | BEGBIGEU—) | BELSEGHI—5)
AER-H—E"RTUH A16L D3t
Ho5H R4 E B1{i¢ C2{ux E3{i C 441
1) —45 261 —4 36—
@ A _ B A _ B A _ B _
1 1 2 2 3 3
1 C1{z 1 1 C2fi1 1 1 C3{i 1
9:00 D14 D21 D311
1) —45 261 —4 36—
@ c _ D c _ D c _ D _
1 1 2 2 3 3
1 A146L 1 1 A2{i1 1 1 A3fL 1
9:35 B14 B21i B31x
1) —45 261 —4 36—
® E _ A E _ A E _ A _
1 — 1 2 — 2 3 — 3
1 B14 1 1 B2{i 1 1 B3 1
10:10 c11k c2fi C31u
1) —45 261 —4 36—
@ B _ c B _ c B _ c _
1 1 2 2 3 3
1 A1{L 1 i A24iL i 1 A34%L 1
10:45 E1 E2{i E3{
1) —45 261 —4 36—
® D _ E D _ E D _ E _
1 1 2 2 3 3
1 C14iL 1 i C24L 1 1 C3fi 1
11:20 A1HL A21i A3{%
1) —45 261 —4 36—
® A _ c A _ c A _ c
1 1 2 2 3 3
1 E14z 1 1 E2{1 1 1 E31iL 1
11:55 D14 D21 D31
)= 261 —4 36—
@ B _ D B _ D B _ D _
1 — 1 2 — 2 3 — 3
1 C14iL 1 1 C24L 1 1 C3fiL 1
12:30 E1d E2fif E3{
)= 261 —4 36— aBr)—4
E _ c E _ c E _ c B _ c
1 — 1 2 — 2 3 — 3 4 4
i B1{i | B2{i | = B3 o FOFu fir
13:05 D14 D21 D31
)= 261 —4 36— F AR —4
&) A - D A - D A - D (F’ - c
1 — 1 2 — 2 3 — 3 . 4
iz E14i o E2f1 T E3f1 iz ; B4t fir
13:40 B1i B2{L B31i i
1) —45 261 —4 36— F AR —4
B - E B - E B - E (F’ - B
1 — 1 2 — 2 3 — 3 . 4
iz D1fL | D2{i T D3 iz ; Cati fir
14:15 A1 A21i A3 i
15:00 RERX (Fro—bEAIRE
T—ILRyREA] E1{i B2fi B3{i FCFuji




